Eibd UNIVERSITY OF
& CAMBRIDGE

AETO
Asian and Middle Eastern Studies Part 1A

Monday 1 June 2015 @ to 12.00 pm

Paper J3
Modern Japanese texts 1

Answer all questions.
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(1) Translate the following passage from a seen text into English and answer
the accompanying questions:

(a) [12 marks]
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RUDORUFU, Yochimu, in Atdda Takashi (ed.), Shoto shoto no hanataba 2 (2009), pp. 154-55.

(b) E27& I T\ < Explain the meaning of T\>< and give one example in
Japanese with English translation. [4 marks]

(c) EHTHEADL S Explain L 57 and give one example in Japanese with
English translation. [4 marks]

(d) Explain the difference between 5.2 % and R 545 . Give one example of
each in Japanese with English translations. {4 marks]
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(2) Translate the following passage from a seen text into English and answer

the accompanying questions:

(a) [12 marks]
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FUJITA KANAKO, Okonomiyakiya no musume, in Atdda Takashi (ed.), Shéto shoto no hanataba

1(2009), pp. 224-25.

(c) & i - T\ % 577 Explain the difference between i&-> T\ 3% 5 7 and

&T % and give one example of each in Japanese with English translations. [4
o THnE 972, [4 marks]
(d) JEiZHE S L9

(b) K#&Ft-» T&E T iz & & Explain the difference between C< #1% and T
marks]

D

74 % and give one example of each in

7 7= Explain the difference between potential form + Xk

-
L

-
LS.

{

g,

72 % and non-potential form + I
Japanese with English translations.

-
—

{

[4 marks]

(TURN OVER)
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(3) Transiate the following passage from a seen text into English:

[12 marks]
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ODA RYUJ, Giso kasai, in Atdda Takashi (ed.), Shoto shoto no hanataba 4 (2009), pp. 146-47.
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SECTIONB
(4) Translate the following passage from an unseen text intoc English: [40

marks]
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(TURN OVER)
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Lot
2248 book shelf A A7 hardly, barely
& L ow At A

g < lIf % {Z in order
(3
#» L 4 rather o9 LAY 1B & shy/bashful person

=] =

FNFE = BOHDE

C

MURAKAMI HARUKI, Umibe no Kafuka (2002}, pp. 68-69.

END OF PAPER
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